MEM 351 Dynamic Systems Lab

Quiz 1


Quiz 1

1. With the graph below, calculate the damping ratio 
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 and natural frequency 
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given that (5 points)
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2. Calculate the poles for the following closed-loop transfer function (5 points)
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3. Given the following block diagram and values, show that the open-loop transfer function is given by (5 points)
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4. Show that the time constant 
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and settling time 
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for the damped compound pendulum given that 
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and natural frequency
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 EMBED Equation.3  [image: image7.wmf]s
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 (5 points)

5. Show that the complex poles 
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will yield 
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and phase angle 
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 EMBED Equation.3  [image: image12.wmf]rad

(5 points)

6. Express the following transfer function in state space given 
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(5 points)
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7.  What is the course objective for MEM 351? (5 points)
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